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1. 19,14, 9 4 X | —
B Gy =
d= -9 I 4 Explicit: An= 3n +|
Explicit: Gon= —5n+aY i lT‘i Recursiveln= Qn- +3
Recursive: Qn= Oy, ~9 5 16 520 te:rm‘:s,_’ =4
nd . 0.|= |°|
52 tem: 94,
M-l 3

- 19 2-1=71=3

-18 -5
2o S 1TT0 _g(sa+ay 3(5{967;"
On= 18 -5 (n-1) -3k
1a-5n+5
-5n+ 34
To+erm

3. 9.0, 35 48 61 (-9 53 _
N —_— —, = \3
Pl 5-1 %
=13 13(52) -4
Explicit: n=|3n-U Bn= G +13(n-1) L,12
Recursive: = On- +13 % gf\tlf



4. Youplant 15 flowers in vour first row of the flower garden, 22 flowers in the second row

of the flower garden, and 29 flowers in the third row of the flower garden. s ‘Q& laqn v
dz—’-’ 3_,——3—'5 =l= 1
Explicit: (\n = Tnt® -\ |
Reawive (= Qg 71 (o= 15 #7000
5274 term; =1 15 +1V\"’—)
1N+ 8
5. Howmany flowers are in the 10 row from problem #47
(s0+8
'7([0)'!‘8 = \'-IBQIO\&)WS\ ( 372
6. At what row do vou have 99 flowers from problem #47
q‘?: n+8 ™
-8 T8 |\3%T Row
A=Tn
1 1

7. Given the 25 term and the common difference. find the 45t term.
e o= 0ovd Che)

Oin= a.+c\(m=m o Ruyg=90+5 (45-1)

aw=q,+ 5(s-1) Qug = 310
a10=qa,+ 5 @Y)

0= Q,+ 120 G,= 40

-0 — 120

8. Given the 2" term and the 7 term, create the explicit and recursive formula.

st

X

8

T-a =5 73 0=~ 212
3|5

D3

Explicit: Op= =1 +3(n-1)
xphat: (p= — n- ,
P —1+3n-3 Recursne s Om=0m—n+3

\Qns 3“"‘4’\ G=-l




9. Given the recursive formula, create the explicit formula:

a, =4 a,=a,_,+3

Qn'-:q ‘\’3?\\-'\)
Cn= L{-\/SY\":%

\Q.n: BY\-\"\X

10. How much does Scott weigh on day 30 if he weighed 342 Ibs. on his first dav stepping on

the scales and lost 1.5 pounds each day? o, 0_30: 343— ‘-S L30—1>

T 242 -1.5 (a7
d=-1.5 298.%

* On dag 30,50t \oelg\ned 298.5 pounds.

T3 15 X Y 2_1

0 3 P 0 4 — ==

e T 1 2 y -

2 75 B 1
1 2 B

5 e n=-\ n
Explicit: (n= (9 (‘5) _oz- 3(5)" Explicit: n= (%) -OR- (L)
Racurswean Se 0 , 0,215 Recursive: Om-' , Qo a,=3

th

B(S)Iaj )‘Qj T roundSH\c



X 1 2 3 2
Y S us 35 105
-3

Explicit: (L = 5(3)'\-|
Recursive: () = 3o *Gn-1 ) a|= 5 X
o 4yos _
12" term: %%5‘ r-' 35 S-\ | = 8\

=Y S L}OS °
5(3)\a~j

4 You are on a 10-day cruise with 5 people that boarded the ship not knowing that thev had just

contracted the swine flu which is highlv contagious. Every dayv, the number of people infected
with swine flu quadrmpled,

=4 S(4)"”
Explicit: An = 5 ()"

Recursive: () = 5 ¢ Qnoy 1%0=

i 83,880,080 peop'e

3 At whalcmt will thcre be 320 people infected with swine flu?

y'
3&O=-’("\) L\
QQ—W

6. If the ship holds 6000 people, how many days will it take for evervone on the ship to be
infected with the swine flu? \A)C Know O\G}j 3= 320
S —» 1380 rmﬂ 170‘5\6
S —yom> O 2P
e Q»*‘ cﬂﬁ'
5 — 20,U80

4
l
>= (4

" || “



7. Given the explicit formula, create the recursive formula.

£ O-rerm because Ss wot
a, = —3(5)" rgised 4o n-|

On = e ln-, )0“ -15

i

8. Given the 2" term and the 7 term of a geometric sequence, create the explicit formula.

a, = —10 a, =320 X
Z 7 320
.25 a|-1o 2¢2 __32
_ 14 7{3&0 -10

n= ‘|O(’9\)ﬁ N e
5@2—_—_ _Q/Q/

9. How many feet tall is Jack’s bean stalk on day 25 if it starts out at 12 inches tall and doubles
v day? ‘\_’J k
e ’q Oterm RY'
Ra=13(@)°

fas=12(2)
<ﬂb§?@iﬂ)@aﬁ‘> _ 13355432 £+

10. On what day will Jack’s bean stalk be over 1500 inches tall?
12@)°=38¢ —
12(2)° = 108 \ o d%ﬂl




flx)= —2x+7 g(x)=2x*—-13
L 9(-2) 9 ay-13 2f()=-11,x=
a2 (4)-13 —]=-2 )C-}'rT
813 T
=5) 193
—a

—-L
3. f(-22) —a(—aa)+7 4.g(x)8=635,;=a_l3
Uy+7 RN
E| T 48=ax?
2 2
a1l
R =17

-1 3, 1,5, 09,.. 2. 3,-9, 27,-81,...
W—_/q
Circle Oﬂe{ Arithmeti)c or Geometric Circle one: Arithmetic or!GeometricS
Commeon difference or ratio: L}_ Common difference or ratio: —3
.. n-1
Explicit Formula: O—h"’ q'n _rT Explicit Formula: O.Y\-'-‘ 3(’3)

Recursive Formula:(} ,, = an ,-]—Lt Q,= -3 Recursive Formulas QL ==3+ On-) _)0“53

12% term: 4] 12% term: ;'—25))'4'41
)

f a1
Y(12)-7 3(-3
48T



3. a, = —8n+11

Circle oneor Geometric ’8(' ) + ) l

-+
Common difference or ratio: —8 9

3
Circle which is given] Explicit Formula| or Recursive Formula f

Write the formula that is NOT given: (1 = (Lyy—) — 8,a,=3

llmtm:ﬁ _Bclg\.'—[\

B
4. a,=6-a,,, a,=2

Circle one: Arithmetic or

Common difference or ratio: (.D

Circle which is given: Explicit Formula of Recursive Fomm]@

n-1
Write the formula thatis NOT given: )y~ = &) (_(o)

ll'htem:-:’E‘s) Sq Lf) ) I
K_ a0

Y4 9 1 q q 12
3 b
q,.;) B Rojun ) .
T x | [] 17
0o Scber o U | ||
1 pattemn - -
mumber
: b g
3. 3 Circle {me:or Geometric

Circle one: or Geometric

Common difference or ratio: 3
Common difference or ratio: 6

Xp]'c.i Formula an... Sn + L*- xp]icit Formula: a*‘— BY] "’ 3

E. t - - E

1 i - I.IISiVE FOI]III]]E.a - a l * ) al - b
Recursive Formula: Q - a' | +S a\ q Rec 3

 perm: Ll, 125 term: 53_
: LD'Q_, s(12) +4 B_ 3(120¥3

7. Explain why the following figure is NEITHER arithmetic nor geometric:
1 2 3 Thev‘c, is no common df@trme-
nE m_m E__E  (ecause “ does ot 629, OF .
- SVbtrack- loy ¥he Same. Amoun
5 W 8 g Sowiswof orithmetic.
¥ does not muts P“f) \03 Yo same,
B Gumoony eadh +ime So Vit is hot
No Common Bo\b No gat Cb%me\’ﬂc either.
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